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O Which symbol in flowchart is used for decision? |
L SaA (SR B i | Lt bl B A
| Best Strategized | Candid Prepared | Which solutions are not reached through proper 2
.__solution solution solution solution jalgorithm planning? N
| 10001 10110 10100 10000 e brasl ST ASETUA | 3
A . Number “(17)10” is equal to ____in binary system. .
| F’J 388 ;fl/}J:‘G ’5’/5-'&%34 : :c‘:_Jl"'/Jd/;fJ/L'Uu 4 "
RAM  |Memory card| Flash drive Ha&‘ﬂ\fiésk Example of volatile memory is: i
A Akl s Ji Iy s L E LSS il Urosrte |
Information| Address Message Protocol | The receiver must be capable of acceptin% }l]e: |
‘} sL s -1 .t ?gli'/f(au/ay%’w/ﬁi/'(j}m[u/ |
: : . o Who accesses services made available by a server 6 |
,r Client Server Path Area computer? ]
| CATIIT | pmin eS8 s | B fef JEUASISEA A L ,
| Online | Client server 5.3 s . | Which does not include in the types of software
} piracy OUET 1igE Liability | Softlifting piracy?
’ T . p Jb”/ré..bufd’L«:J/;cfgwfﬁ/ﬁ%,@ﬁ’vu/
i Service vt £ g ?QLZJ&JGL‘L 8
! (DoS) Machine Phishin ARMY | Which cyber-attack makes machine or network
: I \ h. D o resource unavailable for a user? .
i . ot PA s
+ Middle |Start and End End Start ‘.;,rn‘}*//?/?____,/?/g(u/H ML) 9 i
: ! 14 An HTML element usually consists Of_,,_,___ tags. !
i IR s Y, NS VIR TS o :ﬁ;.d%k((?;,ﬁcn(/&)/:lugjﬁlzv_lji&%vg ”
! Definition . Unordered ~ |An individual list item can contain another entire
y‘ list | Nested list list Ordered list|};st is called:
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(Part-1 : Jil-) F Xﬂ — [k

08 Write short answers to any FOUR parts. ..z‘_‘i'.puz /"" L»mug;é! 2
Write two advantages of flowchart. _5{4}/ I}»L\_wtg;’ Q)
Define invalid test data. . -é: ¥ /7 d/ (‘}J:/f et (D
Why connector is used in flowchart? sebnird A e h G
How “draw a picture” is useful in defining a problem? e barecbad - S LE W GV
Explain trace table. -g{yb’n U(J"":uff/‘ W
Why “rowspan” is used? ?g;t"tgyfdl;‘i’léj_‘f( “Fs” b

08 Write short answers to any FOUR parts. -éayzﬁ'f Ll'ZUlgé—J)( 3
Convert (1001 1), into decimal number system. -”‘éJ“y“ er)&/lﬁﬂf (10011) ®
Make truth table of OR operator. -é—L’aJi £ 40 O0R - GD
Explain Hexadecimal number system. -“é;»u;d/ ("/ / J”J)”jf'/?‘ (i
What is proposition? ?%Jﬁ[{rﬁ){l@ (iv)
What is copy right law? Se Yo seady )
What is advantage of encryption? ?lau’w/gd/&j} (vi)

08 Write short answers to any FOUR parts. -£a§l£ /'"i ‘C'lzugaéi’ -4
Give an example of point to point connection. - o i u’a eiigdeity ()
What do you know about file sharing? ?u,?z'._lg.lf@iuf el B e Js G
Shortly describe user communication. _Zhud A Lﬁ‘% S Gid
Define SMTP protocol. _FEw fE Sy SMTP (V)
Write start and end tag of ordered list. B Bl et (V)
Define nested list. _"éuyfu(.‘)ﬁ&f: (vi)

-uj/ 08 LJIy/;-g;f/»/’caglﬁLc«Ulr»cfé:{rfﬁ:M’
Part - I, Attemptany TWO questions. Each question carries 08 marks.
?L/J"/d:gl';’ll(fjnmd“/":’{u&]c,g/c,duiZJ.LL/(J’[&?_;T;U)'ZK/ lu&)c,ug’j‘.\ﬁf/. =5
Suppose a problem has multiple algorithm. How would you choose the most efficient
algorithm to solve a problem?

Explain star and mesh topology. -;?yuﬂ u’)lij »ile -6
06,02 What is cyber-crime? Explain its any three types. -g‘f;a?u)g}/(wuf g J/ S !?‘LW[{((/ SA T
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[w l)_ C B A Questions / =iy J@;}‘
L s | G Sl D, e T BSe s
| Networking| Storage Software Protocol | Router is a device of which type?
S o A e bl @ A
| Hacking | Softlifting Patent Piracy Making illegal copies of software is called:
[ }
‘ gj;K‘Jf.‘d; el Z:H_/C”fu://l/ s S P e
! Lffl.;.' NS00 of JL‘:’IKr/GZII_ s VLU’/JJ?JV[/V!'_/QJU}{J:UI 3
- E-mail | Actual link Using of | Similar domain Which is not characteristics of phishing :
| account toweb |formstocollectf ofactual |website?
! updates content visitors website ‘[
duE S S N, e SR LBHTML | 4
|_ Security | Graphic Markup Programming HTML isnota ldngtldge e
o ] et sl B
Allthese | Textedit |  Notepad Notepad ++ Webpage can be created and modified by 3
o | ‘ i using:
S ! e s i _F ¢/wld/rd.ﬂKfJf
. i T is a graphical representation of P06
Solution | Flowchart Graph Matrix algorithm.
; ey !
.y ~7.;' . v’@ wg;_[gt/ - t{u’l%a.z./d’iéf\f/ g
\ " ? Before problem solving, we need to first !
~ Qutput Analyze Test Check a problem. i ;
— n \ fesufekda T OR | g
Which is the symbol of OR operator? |
| P Pyl Figdllt | gty i L ra’| o
i Good, Moral Categorical Boolean  {«jt is cold outside” is a: ‘
|_proposition | proposition | proposition proposition ) -
;! . f‘!/c/’x'/d/__ /;!%JJ/QUT(‘VJJ&J
Lo L A asl ok eS| 10
[ Area Sharing Numbers Text A network facilitates communication and
| ! among the connected devices.

N ——|
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Part-1 : Jsio) FED~2~2Y

Write short answers to any FOUR parts. -éc:«tli/‘f Z.’liugc:..éf 3
Write two disadvantages of algorithm. -2:/ v .,qué(” A
Define test data. . Ealued G
Why connector is used in flowchart? "c._brdlwté.uf /C[ u‘._,/la)’ (iii)
Explain trace table. oS J‘ A %)
What is ordered list? tednlfe s W)
Write the purpose of <u > and < img > tags. e L <img>m<u>  (vD)
Write short answers to any FOUR parts. ..d.‘futl!/"' £;l7ubc.(§f 3
What is meant by logical expression? Sl /kf:,u’ / Sy ®
Differentiate between bit and byte. -éubu/u" Ame: (i)

-éijc,dv V:..VHIJ,V éru‘uﬁg}’“);‘;fu&dlr (i)

How to convert a binary number to a Hexadecimal number? Explain with example.

Convert (1000001), to decimal number system. & A - ruz!dwd;lfflf (1000001),  Gwv)
Explain the concept of softlifting. P 1 P N5 T )
What is client server over user? Sl b Ve symtny el (vi)
Write short answers to any FOUR parts. -é_,w/" L»Vl;kc.,éf A
Describe hardware sharing. SEOSEE L D
Differentiate between client and server. _é/, GO el usmeiE (i)
Differentiate between payload and control information. <L 70 e n L2 s Jei3de (i)
Define ISP. - SISP Gv)
Define anchor. FE) g )
Differentiate between “colspan” and “rowspan™. SO e n LIS I (D)

-uj/:’; 08 Ldlr’/:-éf,ijglﬁﬁaﬂwuc‘..J:(‘f”.«l?
Part - II, Attempt any TWO questions. Each question carries 08 marks.

el S LS SIS LingE s S / 25
Define an algorithm and argue on its role and importance in problem solving.
Explain the components of communication system. ooz 'Lf/ af; A 6

-ZUUJIJL;/K..“’/V;/’Q"JAM/JU <]
Describe the importance of encryption for everyday life on internet.
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